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"% | Al E 1ERIES | BEES | 1 B5R | AELY
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5&“ }:'-Eiﬂ], ,fi“ IE\II ITE q:ﬁjﬁg itﬂ Z_’_ 7;.: ﬁ 2_ 7;_: ﬁE 0) ﬁg 0)
B# | B M BOmM % B %| xelE | RalE
=] il ppm R<F Al H ppm ppm

3T )\ 1 27 643 0. 001 0 0 0.004 0. 001
T\ 1 27 642 0. 001 0 0 0. 002 0. 001
VT /\WE-ID | 27 642 0. 001 0 0 0. 004 0. 002
VT /\WE-IV | 27 644 0. 001 0 0 0. 007 0. 002
KiE-1 21 644 0. 001 0 0 0. 004 0. 002
KiE-1 27 644 0. 001 0 0 0. 004 0. 002
2) FEERFIKME (SPV)

/% | B E 1ERIEAY BTMEA) 1 BR | BT

e 7 e 0. 2mg/m 0. Tmg/m

—_. /E\'JF TEH{E Szt | @z 1|‘E_h0) ﬂ”ﬁ_ha)
BH# | B [ BRE% | B & | ReE | xalE
H BERE | mg/m’ B R H mg,/m° mg/m’

T )\ 1 21 645 0.011 0 0 0. 037 0.018
T\ 1 27 645 0.010 0 0 0.039 0.018
VT/\WE-1ID | 27 641 0.010 0 0 0. 055 0.025
VT/\WE-IV | 27 645 0.008 0 0 0.038 0.014
KiE-1 27 645 0.011 0 0 0. 045 0.018
KiE-1 27 645 0.008 0 0 0. 041 0.016
3) HIEEAFIF D F(0x)
R | B [ | BED1 Eﬁﬁﬁﬁo) E\H;aﬁﬁo) RED BRE®D 1
N 1ESRIEAY| 1 SRUEAY prpg | ppRRED
mEL, Al | Bl E | BFFEED (;E(g;r;:l 13 11[)9';) E o | eesE
BE | B fE | FiofE (e f |6 B % meE | OFHE
B | FFRE ppm B AF ppm ppm
VT /\E- 1 29 413 0.037 20 0 0.075 0. 051
VT /\E- 1T 29 409 0.039 12 0 0.085 0. 051
VT/\E-T0 | 29 410 0.030 2 0 0. 062 0. 040
WGT/\BE-IV | 29 413 0.034 0 0 0.049 0.042
Kig-1 29 411 0.047 67 0 0.093 0. 059
KiE-1 29 412 0.028 19 0 0.084 0. 041
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[ T 4 0.1 ppm | 0.04 ppm
e | HE OB | S o | B OO
B# | &5 & BRE%| B & | RaE | RafE
=i B P ppm A R =| ppm ppm
VT )\ - 1 21 643 0.003 0 0 0.010 0. 006
T\ 1 27 642 0.002 0 0 0.010 0.004
3T )\ i1 27 642 0.004 0 0 0.015 0.010
VT )\ E-1IV 27 644 0.004 0 0 0.0256 0.009
Kig-1 27 640 0. 005 0 0 0.019 0.009
Kig-1 27 644 0. 005 0 0 0.013 0. 008
5) —EIEEHR NO) RUZEFREEY NOX)
—BIEEXR EXREBItY
a3 | 8 E 1BRE | BEY | AD B OE 18R | BTty | FafE
S AI%E THE | E O | E O HIE EiiE B 0 E o N0,/
" B | B M el | XeiE B B M REiE =E{E | (NO+NOp)
B | K ppm ppm ppm B BF ppm ppm ppm %
JET/\EB-1 | 27 | 643 | 0.000 | 0.003 | 0.001 27 643 0.003 | 0.012 0.006 | 92.6%
JEST/\IB-T | 27 | 642 | 0.000 | 0.005 | 0.001 27 642 0.002 | 0.015 0.005 | 85.9%
JET/\WE-I | 27 | 642 | 0.001 | 0.016 | 0.003 27 642 0.005 | 0.027 0.013 | 74.2%
JET/\IB-IV | 27 | 644 | 0.001 | 0.008 | 0.002 27 644 0.005 | 0.028 0.011 | 85.6%
K- 1 27 | 640 | 0.001 | 0.004 | 0.002 27 640 0.006 | 0.020 0.010 | 86.6%
XiE-1 27 | 644 | 0.001 | 0.010 | 0.003 27 644 0.006 | 0.019 0.010 | 82.5%
6) —E{tixz (C0)
| B E 8 ERIMEA (B FIEA | 1 B EERS
gl == T e 20 ppm % |10 ppm %
EAEL A E FiE 2 z | z - T o T o
B# | B & m % |8 | &x=fE &= fE
H B fiFd ppm B H ppm ppm
T\ 1 27 645 0.2 0 0 0.5 0.2
T /\WE-1 27 645 0.2 0 0 0.5 0.3
3T\ -10 27 642 0.2 0 0 0.4 0.3
T\ E-IV 27 645 0.2 0 0 0.5 0.3
Riz-1 27 645 0.2 0 0 0.4 0.3
KiE-I 27 645 0.1 0 0 0.3 0.2
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